iR 7 -FHE R

=y . R
ﬁcﬁﬁ;zog M ﬁcm;ézogcs-M @ %@%ﬁ%ﬁ?ﬁ@i@g;{mmﬁ{s—h JUt

C

i 7
o B EIAR (C2700W) Bl 7
o KA L : PO VIV REISEET B X
(FU—) B 7|“
0 Material: Brass bar (C2700W) @ 5
; LS : : b}
B <=1el8] @ Finish: Acrylic resin baked (green) it
. _/.,Coating range T
( e
C-209-M6X15 C-209CS-M6X15 ; — +
(R1FRI1T] [(FSAVAFRI(T] = — EI w
Standard-head screw  Phillips-standard-head screw ! ;
‘ L2 L+
' ~—— -
‘ TPAT—
HRES = Llkls |wlwm EeEge] I-F D=
Product No. ” Remarks Mass Code avo
C-209-M5X 10 10 2.66 23276 _
3.5 8.0 M5 SvFir
C-209-M5X15 15 12 3.27 23277
C-209-M6X10 10 40| 10 ’ M6 4.3 23278 Ry
C-209-M6X15 NAFAI91T 15 | 5.21 23279 FruF
Standard-head .
C-209-M8X 15 screw 15 10.76 23280 EVFE
55| 13 | 1.6 | M8 HH-raE
C-209-M8X20 20 12.55 23281 h—hER
-209-M10X 1 1 21.42 23282 TY—t—
EESVIEIE 6 7.0 | 17 | 2.0 [M10 328 Pﬁ;&%%&
C-209-M10X20 20 23283
C-209CS-M5X 10 10 2.48 23838 e
3.5 8.0 M5 pes
C-209CS-M5X 15 15 12 3.1 23839 =
C-209CS-M6X10 0, ol 10 ’ V6 3.87 23841 AT
C-209CS-M6X15 TSARIFAIIT 15 | 47 23840 BBER
Phillips-standard-head
C-209CS-M8X 15 screw 15 10.1 23842 T/
55|13 | 1.4 | M8 P
C-209CS-M8X20 20 11.9 23843
C-209CS-M10X 16 16 201 17 120 lm1o 19.94 23844 BRI
C-209C5-M10X20 20| " : 217 23845 MR

@ :RoHS10#ESIGE A :RoHS 1018 ICHIGITEETT, vty



